4. Given two lines in vector form

A=< L0l > <l s>

7a(s) =< 4,-2,0 > +s < 2,0,-3 >

(2) [8 points] Find the point of intersection of these two lines, if it exists.
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(b) [10 points] Find the equation of the plane containing these two lines. OCON S FUT' 0o
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(¢) [8 points] Find the vector equation of the line through the point you found in part

(a) which is perpindicular to the plane you found in part (b).
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[If you were unable to do (a), pretend the point is (0, 1,1) in parts (b) and (c). If you were
unable to do (b), pretend the plane is 2z —y + z = 3 In part ©)



